EARAROBEEIERT — 2 N— IBISH —F

20175F4A9H (B) 2mEpR#6H

Eillsnsss #-7> v5%3% (B8 % (5 2T ERnEE e
[A&4£] 1 7 19,000,000 § 2 3% :7,600,000 3 3&:4,800,000 4 3% :2,900,000 5 7% :1,900,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . jt 3 | EDMME 2:04.3 10-10-9-8 | 36.0 | 92.5 | 3 428 | BB—% (ER)
1 3|/NE—21=3-=> 54.0 (=) (6) | M) CHEVALATTACHE
L:N—=v754 B:¥ra0-X T EAtE
; 3 | fEKth— 2:04.3 4-4-4-3 | 36.4| 92.5 | 4 414 | BtEREZ (BR)
2|2 7| 7VAUTTIN— L SRRk F4%) o) | B rF-L—vry
R:RY—bLYv—=— BT7LX—Uk BB T7— L
S : 3 | K& 2:04.3 1-1-1-1 | 36.8| 92.5 | 2 448 | AER— (FF)
30111 KO 7hH—FR 540 (NF) 6 | W G1L—27
LBATATv— BTAR9 = (B) #BA3—-RKL—va>AaE77
4 3 | C. bx—Jb 2:04.7 5-6-6-4 | 36.6| 88.6 | 1 444 | EEER (EH)
4181(10 AANT—=IVT 7 Ln 54.0 (2 1/2) -2) BRI VY
R:O-I>FU> BEXRYyILTq J—HTp—Lh
=R - jt 3 | FEEZ 2:04.9 7-7-8-6 | 36.7| 86.7 | 6 400 | DOREANE (3EiF)
5178 TZ29v7F=Z%X 55.0 (11/2) (-14) ) R 4 e
R:TSv 81 F B:SUv— REHS
w - 4 3 | EEESR 2:05.0 5-4-4-4 | 37.1]85.9 | 7 436 | FBR (ER)
EE 2 AV Ju Rty I Al . 54.0 (3/4) (-4) /NEFIHSR
L:xF1=Fdr—X B:JUIFO-HbCX B Bz
3 > B 3 | FREH 2:05.1 8-7-6-6 |37.0| 84.9 | 9 432 | DNEEBEZ (RER)
71515 ) —=3Z23/N\% X 54.0 (7€) (cay | KT ()
Z:ANXZXTNT B:ZET7>O0-X T HiE
R 4 3 | AEFT 2:05.3 9-9-9-8 |36.9| 8.0 | 5 404 | REETT (FR)
glglo|Ly KX r=UT 540 N G2) | ) REA-RL—v2
RiFA—TALNT N BTALY Y TS
. N E AT :07. -2~ . . EEEA (EXR)
9 4| vavva—svL L] il (29047;) 2-2-2-2 | 39.7| 67.1 | 10 ;1_568) biE2
R:b—trRILAY B:¥avia-sM AN
= S, =P IR 1. -3-3- . . FE (ER)
10 6l ¥e=>TrTU N i 3 N (291{1% 3-3-3-10 |43.3| 44.3 | 8 tg)z T
R:Y=Z28—-3I=24— Y= IYTR R {iBh
@ 21 L
£y 49.0-36.8
NA> 24 L | 12.9-11.8-12.9-12.4-12.7-12.6-12.2-11.9-12.3-12.6
@ I—F—@EBIERL
|S=7r= 1,4,6,7(2,10)8,5,9-3
23=7F= 1,4,6(2,7)10-(5,8)9-3
33—F— |1,4,6(2,7)(5,10)8(3,9)
40—+ — 1,4,7(2,10) (5,8) (3,9)6
[ RN
B Op 3 660M 794K 3-7 620M & 3-7 1,600M &R 1-3-7 1,720
# B 3 1909 -8 320M B E &=/ 2,530 EE Sl 13,770
7 220H 1-7 370M B H 3-7 5,090M
1 140

ABICOVWTRDTEEERROODE. TR LIV,




